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" The order of matrix 2 1 s: 3c‘:.,.;«'/ﬁ2 I
a) 2-by-1 b) 1-by-2 a) 2-by-1 b) 1-by-2
c) I-by-1 d) 2-by-2 c) I-by-1 d) 2-by-2
° A square matrix M is said to by skew /lu“? EZL(J s 3,:':;’/ M*Jli'df/ug
symmetric if:
a) M'=-M b) M'=M a) M'=-M b) M'=M
t = 1 t — N t=_~ t
C)M—ﬁ d M'=M C)M_M d M'=M
/2 /2«
’ Matrix[ :] J'%-I is called ---v-veeeeeee matrix: %_t’l?LfJ/_.,Jl?[[ :) J%-I
a) Zero b) Identity a) § b) Qles
¢) Scalar d) Singular c) )::5 d) »C
4 i £k b ™
Adjoint of matrix E b} is : R &‘?ﬁf!{z d}-.fj"

- d —

a b —a b a —h
a) [—c d} b) {C _{J a){_c a’J
o277 o

5
< -1 =2 1 0 o w
If X+ 0 = then x = X= 4y

-1 0 1 —
2 2
2) L 0}

b) B ﬂ
2 0 - 2%
) {0 2} d) L} 2}

w6121
b) 1-by-3
d) 3-by-3
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The order of matrix | ; Jis:

a) 3-by-1 b) 1-by-3 a) 3-by- 1

c) 2-by-2 d) 3-by-3 c) 2-by-2
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"1fAa=[ 2dandB= |5 1| then"AB" is Igﬂx”AB"inB:[; | ain= B 4.0

equal to: = o

a) 14 2 b) _;] a) 4 2

o [+ 1] 4 [3] o) [t 2]
8 12 6l

If}; .} then X is equal to:

a) 9 b) -6 a) 9

c) 6 d) -9 ¢) 6
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